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EXCERSISE 7 
Having the radious R=200km and Mmax=6.4 we can find N.
Log(N1)=7.1-M=7.1-6.4, so Ν=5 for the corresponding Μmax.

Using the Papazachos attenuation relationship for ag=0.50g =500cm/s2:
lnag=3.88+1.12Ms-1.65ln(R+15)

ln500=3.88+1.12x6.4-1.65ln(R+15)

R=3.7km, which is the maximum radius.

                                                                2km
The resulting area                                         2km
is a 3x3 grid:
The radius in each case resulting from the grid above is:

R1=0km (O)

R2=2km (OB) 
R32=22+22 so R3=2.83km. (OA)

· For R1=0 km, ln(500)=3.88+1.12Ms-1.65ln(0+15), Ms1=6.07

· For R2=2 km, Ms2=6.26
· For R3=2.83 km, Ms3=6.33
For each case of Μ we get the following results:

Log(N1)’=log(N1A’/Atot)=logN1+log4-log(π x 2002)=7.1-M+log4-log(π x 2002)

· R1=0 km, M1=6.07, log(N1)’=7.1-6.07, so N1,1’=3.4x10-4
· R2=2km,  M2=6.26 so N1,2’=2.2x10-4
· R3=2.83km, M3=6.33 so N1,3’=1.87x10-4
So Ν1,tot=Ν1,1+4Ν1,2+4Ν1,3=1.97x10-3
Finally p(t)=1-e-N1,totxt
The probability of exceeding in 50 years:
P(50)=1-e-N1,totx50 = 1-e-1.97x0.001x50 = 0.094= 9.4%
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